L’atelier de I'hébreu

nMaya n'yma nx 1and A :AND NIMMINA 0'7'NA DX 1AND X

Write the words in French: Copy the words in script:

Hello DIovY "IN N

I [Im7?

You DN

Goodbye !

From N'720N

Nice to meet nlamA

you My

No

w/hw/oymM/a (7710) :on'n ni'r'n DX 1AND A

Write the prepositions:

.09 DTN 0N 19702 ‘NN T NN QAR 2 T
.D"7WN1 971X NN2aY TIT RN .N"172IR orr .2
rarally 190N NO'X .3

(m 20) ann gt I9n DX 1ANd T

Conjugate the verbs into the present tense.

(j7nw?) L2 Dpnyn nnax A
(yn') APl DNKX .2
(haT?) My nx .3

(nmwY)  .nTvonmaym NN 4




(w129Y) .0Man on .5

(nnoY) NINNY N .6

ST'NYVIENAY N1 V19N DX 1AND 2.3

(7nw?) 2™ PNyl nnax am 1IPN'Y 1NIR GRAAIT

(yn") Ij71aa DNX I DX .1
(haT9) NN NNy nx .2
(nnw") NIN .NTyon1l y'n Nin .3
(wanin?) DN .aPIDa on 4
(j"7T07) [N JIRD DX [n.5

(72 20) xnAIT2 IAD 1AND .7

Change the verb to the correct form:
infinitive +anix /715* /Ay /nxn

. N'ay TIn%% D'XIN DN (NXN) < .N™M2y D'TNI7 DNX XNAIT

Example

(AMy) « .nvoo N7wan x'n .1

(7107) — .0N7 DIP NX .2
(AnIx) « 7122 T XN .3

(712') « A2 9:00 2 omp on 4




(nxN) < fmo-Rann X L5

?Nn"2y TIn%7 D'YN DNX ANY? 70"N2 D'YIY DNX 2N 700X 'N .1AND .

VITn 28w N7 N9IX DX AITYY7 0¥ 01N 0TI NIRINAXD D'NIYA DN DX
.00 7?87 anY ?p an% ?yax? niyY 0N 0NN D DXD ?00NYTY




